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QUESTION 1

A new employee has just started working for your company. You create an Oracle Cloud Infrastructure user account for
this employee, following which they are able to log in, but still cannot create any resources.

What should you do to resolve this?
A. Send the employee API Signing Keys to log in.
B. Delete the account and create another one.

C. Make sure that the employee is logging in to the Oracle Cloud Infrastructure account from your corporate network
only.

D. Add the employee to a group with policies to grant access to relevant resources.

Correct Answer: D

QUESTION 2

Your company is moving an Internet-facing, 2-tier web application into Oracle Cloud Infrastructure. The application must
have a highly available architecture.

Which two design options would you consider? (Choose two.)
A. Configure a Dynamic Route Gateway in your VCN and make it highly available.

B. Configure a NAT instance in your Virtual Cloud Network (VCN). Create a route rule by using the private IP of the NAT
instance as a route target for all the private subnets in your VCN.

C. Create an Internet Gateway and attach it to your VCN. Deploy public load balancer nodes into two Available
Domains.

D. Place all web servers behind a public load balancer.

Correct Answer: BC

QUESTION 3

Which two use Oracle dynamic routing gateway (DRG) for connectivity? (Choose two.)
A. Remote virtual cloud network (VCN) peering across region

B. Oracle IPsec VPN

C. Local VCN peering

D. Oracle Cloud Infrastructure FastConnect public peering

Correct Answer: AB
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Reference: https://docs.cloud.oracle.com/iaas/Content/Network/Tasks/managingDRGs.htm

QUESTION 4

You are about to deploy an e-business application on Oracle Cloud Infrastructure and one of the
requirements is to use a shared file system that supports the NFS protocol.

Which storage service would meet this requirement?

A. object storage

B. block volume

C. data transfer appliance

D. file storage

Correct Answer: D

QUESTION 5

Which resource is required when connecting to your on-premise network from your Virtual Cloud Network (VCN) via
IPSec VPN or FastConnect?

A. Internet Gateway (IGW)

B. Dynamic Routing Gateway (DRG)
C. local peering gateway

D. NAT

Correct Answer: B

Reference: https://cloud.oracle.com/networking/vcn/faq
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